PwiYw

Antal procent (antal saknas)

namn:

x 10% =10

x 40% = 5.6

x 50% =47

x20% =04

x 60% = 54

x 50% = 47.5

x 20% = 15.6

x 90% = 30.6

x 80% =22.4

x 80% = 29.6

Datum:

x90% = 61.2

x 90% = 10.8

x 40% = 27.6

x 90% = 18

x 80% = 7.2

x 30% = 29.7

x 50% =45

x90% = 11.7

x 40% = 15.6

x90% =72
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Poéng:
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fwi¥Yw

Antal procent (antal saknas)

namn:

100 x 10% = 10

14 x40% = 5.6

94 x 50% = 47

2x20% =04

90 x 60% = 54

95 x 50% = 47.5

78 x 20% = 15.6

34 x 90% = 30.6

28 x 80% = 22.4

37 x 80% = 29.6

Datum: Poéng:

68 x90% = 61.2

12 x90% = 10.8

69 x 40% = 27.6

20 < 90% = 18

9x80% = 7.2

99 x 30% = 29.7

90 x 50% = 45

13 x90% = 11.7

39 x40% = 15.6

80 x 90% = 72
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